Case 2:19-cv-03212-SVW-GJS Document 56-6 Filed 05/22/20 Page 1 of 4 Page ID $\#:\!1280$ Exhibit F

Date	Timekeeper	Description	Hours	Rate	Amount
12/27/2018	Palmerin	Draft template for complaint and send to TDC.	0.30	\$170.00	\$ 51.00
2/7/2019	Palmerin	Conduct computer work re finalize PRAR to LA City Clerk, convert to PDF, and save on my desktop to submit through the LA PRAR Portal. Submit PRAR, send confirming email to MMI, and update PRAR tracking spreadsheet.	0.30	\$170.00	\$51.00
2/11/2019	Palmerin	Conduct computer work re profile article on SF Examiner re memo re big political donors in iManage and distribute to team	0.10	\$170.00	\$17.00
2/11/2019	Palmerin	Conduct computer work re forward email from LA City Clerk to TDC and MMI re no documents response to PRAR 2058965, profile in iManage, and update PRAR tracking spreadsheet.	0.20	\$170.00	\$34.00
2/13/2019	Palmerin	Conduct computer work re profile article from Pew Research Center re America's Complex Relationship with Guns in iManage and distribute to team per TDC.	0.10	\$170.00	\$17.00
2/14/2019	Palmerin	Conduct computer work re download VA Uranium v. McAuliffe documents re Motion to Dismiss and Motion for Summary Judgment, profile in iManage, and distribute to team per TDC. Download article re LA Passes Law Forcing Businesses to Disclose Ties to NRA, profile in iManage, and distribute to team.	0.20	\$170.00	\$34.00
2/14/2019	Palmerin	Conduct computer work research for article re LA Demanding City Contractors to Disclose Ties with NRA by E. Volokh in iManage. Profile article per TDC.	0.20	\$170.00	\$ 34.00
2/19/2019	Palmerin	Conduct computer work re download article from WeHo Ville re Gay LA Councilmemeber Doesn't Like Wells Fargo, profile in IManage, and distribute to team per TDC	0.10	\$170.00	\$17.00
2/19/2019	Palmerin	Conduct computer work re upload new PRAR to City re communications between City Council, City Staff, Anti-Gun Activist Groups, City Attorney, and Mitch O'Farrell on LA PRAR Portal. Update PRAR tracking spreadsheet. Send confirming email to MMI,TDC, and AMB	0.20	\$170.00	\$34.00
2/19/2019	Palmerin	Assemble PRAR to LA Budget and Finance Committee re communications and send by mail to Committee. Update PRAR tracking spreadsheet. Send confirming email too MMI, TDC, and AMI	0.20	\$170.00	\$34.00
2/19/2019	Palmerin	Review email from CDM re LA Times article re Naming and Shaming Firms That Do Business with the NRA	0.10	\$170.00	\$17.00
2/19/2019	Palmerin	Conduct computer work re review LA City Clerk's response to PRAR re communications between City Council, City Staff, Anti-Gun Activist Groups, City Attorney, and Mitch O'Farrell and forward to TDC and MMI. Update PRAR tracking spreadsheet.	0.20	\$170.00	\$34.00
2/26/2019	Palmerin	Conduct computer work re forward email from LA City Clerk re no documents responsive to PRAR re communications between City Council, city staff, anti-gun activist groups, City Attorney, and M. O'Farrell to MMI and TDC. Update PRAR tracking spreadsheet	0.20	\$170.00	\$34.00
2/27/2019	Palmerin	Conduct computer work re download LA Contractors Handbooks and LA World Airports Guidelines, profile in iManage, and distribute to team per TDC.	0.10	\$170.00	\$17.00
3/5/2019	Palmerin	Conduct computer work re profile article re LA Seeks to Trample Over First Amendment with Anti- NRA Proposal and San Diego's Budget Analysis Report re Border Wall per TDC and send links to team. Review documents. Send iManage link to team of article on IJR re LA Passes Law Forcing Businesses to Disclose Ties to NRA	0.20	\$170.00	\$34.00
3/8/2019	Palmerin	Telephone conference with TDC re REDACTED	0.90	\$170.00	\$153.00
5/1/2019	Palmerin	Review filed complaint	0.10	\$170.00	\$17.00
5/3/2019	Palmerin	Telephone conference with TDC re REDACTED	0.10	\$170.0	\$17.00
5/8/2019	Palmerin	Telephone conference with TDC re REDACTED	0.10	\$170.00	\$17.00
5/13/2019	Palmerin	Meeting with AMB, TDC, AAF, IHK, and MMA re REDACTED	0.20	\$170.00	\$34.00

Case 2:19-cv-03212-SVW-GJS Document 56-6 Filed 05/22/20 Page 2 of 4 Page ID #:1281 Exhibit F

Date	Timekeeper	Description	Hours	Rate	Amount
5/17/2019	Palmerin	Conduct computer work re profile letter from LA City Mayor's Office stating that records responsive to PRAR re communications with anti- gun groups will be produced on 6/27/19 in iManage and distribute to team. Update PRAR tracking spreadsheet. Re-name documents in PRAR folder per proper document naming protocol	0.30	\$170.00	\$51.00
5/20/2019	Palmerin	Draft template for declaration of AMB in support of Plaintiffs' motion for preliminary injunction and send to TDC and AMB.	0.30	\$170.00	\$51.00
5/22/2019	Palmerin	Draft REDACTED and send to AMB and TDC	0.30	\$170.00	\$51.00
5/23/2019	Palmerin	Draft template for declaration of TDC in support of Plaintiffs' Motion for Preliminary Injunction and send to TDC	0.20	\$170.00	\$34.00
5/23/2019	Palmerin	Review email from PYO re REDACTED	0.20	\$170.00	\$34.00
5/24/2019	Palmerin	Review, proofread, and revise formatting of Plaintiffs' Notice of Motion for Preliminary Injunction, Declaration of AMB, Declaration of TDC, Request for Judicial Notice, and Proposed Order. Convert to PDF and save on my desktop for filing	1.10	\$170.00	\$187.00
5/24/2019	Palmerin	Conduct computer work re assemble exhibits 1-33 to be filed with Plaintiffs' Motion for Preliminary Injunction. Add exhibit tabs and compile into PDF documents of 10 MB or less and save on my desktop for filing	2.90	\$170.00	\$493.00
5/24/2019	Palmerin	Review and format Memorandum of Points and Authorities in Support of Plaintiffs' Motion for Preliminary Injunction, update table of contents, and add table of authorities. Convert to PDF and save on my desktop for filing	0.80	\$170.00	\$136.00
5/28/2019	Palmerin	Prepare mandatory chambers copies of Plaintiffs' Notice of Motion for Preliminary Injunction, Memorandum of Points and Authorities, Declaration of AMB, Declaration of TDC, Request for Judicial Notice, and Proposed Order and place in Signal Outbox with buckslip for delivery to Judge's chambers.	1.20	\$170.00	\$204.00
5/30/2019	Palmerin	Conduct computer work re review emails from PYO and Bureau of Contract Administration re PRAR requesting affidavits disclosing contracts and sponsorships of NRA and update PRAR tracking spreadsheet.	0.10	\$170.00	\$17.00
5/30/2019	Palmerin	Conduct computer work re update PRAR tracking spreadsheet with email from Bureau of Contract Administration stating they have no responsive documents to PRAR requesting J. Reamer communications	0.10	\$170.00	\$17.00
5/30/2019	Palmerin	Conduct computer work re review emails from Los Angeles Budget and Finance Committee responding to PRARs re communications with M. O'Farrell re contractors' affiliation with NRA and communications re Stonewall Democratic Club and Equality California. Update PRAR tracking spreadsheet.	0.20	\$170.00	\$34.00
6/11/2019	Palmerin	Update PRAR tracking spreadsheet with documents responsive to PRAR requesting affidavits disclosing contracts of the NRA. Exchange emails with PYO and TDC re same.	0.20	\$170.00	\$34.00
6/14/2019	Palmerin	Draft Declaration of AMB in support of Emergency Ex Parte Motion to Continue Hearing on Plaintiffs' Motion for Preliminary Injunction and Defendants' Motion to Dismiss and send to AAF. Draft Proposed Order and send to AAF	0.40	\$170.00	\$68.00
6/14/2019	Palmerin	Exchange emails with SAB re REDACTED. Meet with SAB and HV re REDACTED Review email from B. Chapman and forward to SAB and AAF. Meet with SAB and HV re REDACTED. Review emails between B. Chapman and SAB.	0.80	\$170.00	\$136.00
6/14/2019	Palmerin	Draft template for Joint Stipulation and Request to Continue Hearing on Plaintiffs' Motion for Preliminary Injunction and Defendants' Motion to Dismiss and send to SAB, TDC, and AAF	0.50	\$170.00	\$85.00

Case 2:19-cv-03212-SVW-GJS Document 56-6 Filed 05/22/20 Page 3 of 4 Page ID $\#:\!1282$ Exhibit F

Date	Timekeeper	Description	Hours	Rate	Amount
6/14/2019 F	Palmerin	Review and revise Plaintiffs' Emergency Ex Parte to Continue Hearing and Briefing Schedule on Plaintiffs' Motion for Preliminary Injunction and Defendants' Motion to Dismiss, Memorandum of Points and	0.80	\$170.00	\$136.00
		Authorities, Declaration of SAB, and Proposed Order. Convert final			
		documents to PDF and save on my desktop for filing. File and serve via			
		CM/ECF.			
6/25/2019	Palmerin	Exchange emails with TRD re REDACTED Plaintiffs' Motion for Preliminary Injunction and Defendants' Motion to dismiss	0.10	\$170.00	\$17.00
6/26/2019	Palmerin	Review and Revise formatting of draft of Plaintiffs' Opposition o	2.30	\$170.00	\$ 391.00
		Defendants' Motion to Dismiss Revise per SAB's revisions and send to			
		SAB. Revise per SAB'S further revisions and AMB's revisions.		40.00	
6/26/2019	Palmerin	File and serve Plaintiffs' Opposition to Defendants' Motion to Dismiss via CM/ECF	0.20	\$170.00	\$ 34.00
7/1/2019	Palmerin	Draft email to court clerk re clarification on deadline to file reply to	0.40	\$170.00	\$ 68.00
		Defendants' Opposition to Plaintiffs' Motion for Preliminary Injunction			
		and send to SAB, AMB, and TDC for review per TDC. Draft template for			
		Plaintiffs' Reply to Defendants' Opposition to Plaintiffs' Motion for			
7/2/2010	Delassia	Preliminary Injunction and send to AMB, TDC, and SAB	0.00	¢ 170.00	¢ co oo
7/2/2019	Palmerin	Compare Defendants' Motion to Dismiss with Defendants' Opposition	0.80	\$ 170.00	\$ 68.00
		to Plaintiffs' Motion for Preliminary Injunction to determine any			
7/9/2010	Palmerin	changes in their arguments. Exchange emails with TDC re changes. Revise Plaintiffs' Reply to Defendants' Opposition to Motion for	0.20	\$ 170.00	\$ 34.00
7/8/2019	Paimerin	Preliminary Injunction, convert to PDF, and save on my desktop for	0.20	\$ 170.00	\$ 34.00
		filing. File and serve via CM/ECF. Download conformed copy, profile in			
		iManage, and distribute to team.			
7/8/2019	Palmerin	Prepare mandatory chambers copy of Plaintiffs' Reply to Defendants'	0.30	\$170.00	\$ 51.00
//8/2019	Fairlerin	Opposition to Motion for Preliminary Injunction and leave in Signal	0.30	\$170.00	3 51.00
		Outbox with buck slip for Signal to deliver to Judge's chambers.			
7/8/2019	Palmerin	Draft Notice of Appearance for SAB and send to SAB and AMB for	0.30	\$ 170.00	\$ 51.00
,,0,2015	i unici il	review. Convert final draft of Notice of Appearance of SAB to PDF and	0.00	<i>v</i> 170.00	φ 51.00
		save on my desktop for filing. File and serve via CM/ECF. Download			
		conformed copy, profile in iManage, and distribute to team			
7/17/2019	Palmerin	Move PRAR to LA City Council re communications between anti-gun	0.10	\$ 170.00	\$ 17.00
.,,		activist groups and Councilman P. Krekorian to closed PRARs per TDC.		7	,
7/25/2019	Palmerin	Conduct research re REDACTED	0.40	\$ 170.00	\$ 68.00
7/31/2019	Palmerin	Review email from ILG re REDACTED	0.10	\$ 170.00	\$ 17.00
8/7/2019	Palmerin	Prepare two bound booklets for Defendants' Motion to Dismiss and	2.60	\$ 170.00	\$ 442.00
-, ,		Plaintiffs' Motion for Preliminary Injunction hearing for TDC and SAB.			
		Add all supporting evidence to thumbdrive for TDC.			
8/21/2019	Palmerin	Begin drafting Transcript Order form for ordering transcript for	0.30	\$ 170.00	\$ 51.00
		hearing on Motion to Dismiss and Motion for Preliminary Injunction.			
		Exchange emails with SAB and TDC re same			
8/22/2019	Palmerin	Continue drafting Transcript Order form per court reporter and send to court reporter by email.	0.30	\$ 170.00	\$ 51.00
8/22/2019	Palmerin	File and serve Transcript Order form on CM/ECF, download filed form,	0.20	\$ 170.00	\$ 34.00
0/22/2019		and profile in iManage. Prepare check request for transcript fee and			,
		leave in LPA's box.			
9/5/2019	Palmerin	Meeting with JDM to REDACTED	0.10	\$ 170.00	\$ 17.00
9/6/2019	Palmerin	Exchange emails with A. Kielwasser re status of transcript on hearing	0.10	\$ 170.00	\$17.00
	_	re Motion to Dismiss and Motion for Preliminary Injunction	-		
9/9/2019	Palmerin	Meeting with JDM to discuss REDACTED	0.10	\$ 170.00	\$17.00
11/15/2019	Palmerin	Review Judge's Standing Order re setting Scheduling Conferences and	0.40	\$ 170.00	\$ 68.00
, -0, 2010		send information to AMB	0.40	÷ 1, 0.00	÷ 50.00

Case 2:19-cv-03212-SVW-GJS Document 56-6 Filed 05/22/20 Page 4 of 4 Page ID #:1283 Exhibit F

Date	Timekeeper	Description	Hours	Rate	Amount
12/17/2019	Palmerin	Review and analyze Court's Civil Trial Prep Order and distribute to	0.70	\$ 170.00	\$ 119.00
		team. Review Order and Central District Local Rules re court trials,			
		calendar all relevant deadlines, and send confirming email to team.			
1/8/2020	Palmerin	Send email to AAF REDACTED	0.10	\$ 170.00	\$ 17.00
1/9/2020	Palmerin	Draft Request for Production of Documents to Defendant City of Los	1.00	\$ 170.00	\$ 170.00
		Angeles per SAB's email and send to SAB and AMB. Revise per SAB and			
		send final draft to SAB.			
1/15/2020	Palmerin	Meet with SAB re REDACTED	0.20	\$170.00	\$34.00
1/15/2020	Palmerin	Draft Initial Disclosures and send to AMB. Draft template for Exhibit	0.90	\$170.00	\$153.00
		List and send to TDC. Draft template for Memorandum of Contentions			
		of Fact and Law and send to AAF.			
1/21/2020	Palmerin	Revise Plaintiffs' Exhibit List per SAB. Review and format Plaintiffs'	0.50	\$ 170.00	\$ 85.00
		Witness List, convert to pdf, and save on my desktop for filing. Review,			
		format, and add table of authorities on Memorandum of Contentions			
		of Fact and Law and send to AMB. Revise Plaintiffs' Exhibit List per			
		AMB, convert to pdf, and save on my desktop for filing.			
1/24/2020	Palmerin	Review and revise format of draft stipulation re settlement per CDM.	0.30	\$170.00	\$51.00
1/27/2020	Palmerin	Review, format, and revise draft stipulation re settlement per CDM	0.30	\$170.00	\$51.00
		and save as new version in iManage. Exchange emails with SAB re			
		same			
1/28/2020	Palmerin	Exchange emails with CDM and SAB re REDACTED	0.10	\$170.00	\$17.00
1/30/2020	Palmerin	Review and revise formatting of Joint Stipulation, Proposed Order, and	0.40	\$170.00	\$68.00
		Proposed Judgment, convert to pdf, and save on my desktop for filing.			
		Attempt to file document. Meet with SAB and AMB re REDACTED			
1/31/2020	Palmerin	Palmerin Prepare mandatory chambers copy of Stipulation and	0.30	\$170.00	\$51.00
		Proposed Judgment and Proposed Order with exhibit tabs and blue			
		back and place in Signal Outbox for delivery today.			
2/3/2020	Palmerin	Draft email to Court Clerk re status of Stipulation and Proposed	0.20	\$170.00	\$34.00
, -,		Judgment and send to CDM for review.			
2/27/2020	Palmerin	Draft templates for Declarations of CDM, JRD, AMB, SAB, AAF, TDC,	0.70	\$ 170.00	\$ 119.00
		KTM, LP, and HV in support of Plaintiffs' motion for attorneys' fees and			
		send to MMA.			
3/5/2020	Palmerin	Review and revise LP's declaration in support of Plaintiffs' Motion for	0.20	\$ 170.00	\$ 34.00
		Attorneys' Fees and send to MMA.			
4/27/2020	Palmerin	Meet with HV re REDACTED	0.10	\$ 170.00	\$ 17.00
4/27/2020	Palmerin	Draft Notice of Motion and Motion for Attorneys' Fees and Proposed	0.90	\$ 170.00	\$ 153.00
, ,		Order and send to AMB and AAF.			
4/27/2020	Palmerin	Exchange emails with AMB and HV REDACTED	0.20	\$ 170.00	\$ 34.00
4/28/2020	Palmerin	Exchange emails with AMB re REDACTED	0.20	\$ 170.00	\$ 34.00
4/29/2020	Palmerin	Send email to HV with her draft Declaration in Support of Motion for	0.20	\$170.00	\$ 34.00
		Attorneys' Fees. Exchange emails with AAF re REDACTED	-		
4/29/2020	Palmerin	Profile revised Memorandum of Points and Authorities in Support of	0.20	\$170.00	\$ 34.00
		Motion for Attorneys' Fees in iManage as new version and send to			-
		AMB and AAF			
	1		31.5		\$5355
	1				+0000